
2𝑥 = 4

2𝑥

2
⎯⎯⎯=

4

2
⎯⎯

2𝑥

2
⎯⎯⎯=

4

2
⎯⎯

𝑥 =
4

2
⎯⎯

Divide both sides by 
the coefficient on 𝑥.

𝑥

3
⎯⎯= 6

3 ×
𝑥

3
⎯⎯= 6 × 3

3 ×
𝑥

3
⎯⎯= 6 × 3

𝑥 = 18

Multiply both sides by 3

5

4
⎯⎯𝑥 = 10

𝑥 = 2

𝑥 = 6 × 3

4 ×
5

4
⎯⎯𝑥 = 10 × 4

4 ×
5

4
⎯⎯𝑥 = 10 × 4

𝑥 = 8

5𝑥 = 40

5𝑥

5
⎯⎯⎯=

40

5
⎯⎯⎯

Multiply both sides by 4

Divide both sides by 5

5𝑥

5
⎯⎯⎯=

40

5
⎯⎯⎯

𝑥 =
40

5
⎯⎯⎯

Solve for 𝒙, 𝒃𝒚 𝒅𝒊𝒗𝒊𝒅𝒊𝒏𝒈 𝒕𝒐 𝒃𝒐𝒕𝒉 𝒔𝒊𝒅𝒆𝒔. 

Solve for 𝒙, 𝒃𝒚 𝒎𝒖𝒍𝒕𝒊𝒑𝒍𝒚𝒊𝒏𝒈 𝒕𝒐 𝒃𝒐𝒕𝒉 𝒔𝒊𝒅𝒆𝒔. 

Solve for 𝒙

𝑨𝒏𝒔𝒘𝒆𝒓 𝒔𝒉𝒐𝒖𝒍𝒅 𝒔𝒂𝒚 𝒙 = ____

Cross it off
2

2
⎯⎯= 1

Divide both sides by 2

2𝑥 = 4
  2      2
  𝑥 = 2

Short Forms

    2𝑥 = 4
2(2) = 4
       4 = 4

Check Answer

Question
Substitute
Left Must Equal Right

Multiply both sides by 
number below the letter

Cross it off
3

3
⎯⎯= 1

   
𝑥

3
⎯⎯= 6

18

3
⎯⎯⎯= 6

  6 = 6

Check Answer

Short Forms

3 ×
𝑥

3
⎯⎯= 6 × 3

        𝑥 = 18

    
5

4
⎯⎯𝑥 = 10

5

4
⎯⎯(8) = 10

     10 = 10

Check Answer

4 ×
5

4
⎯⎯𝑥 = 10 × 4

         5𝑥 = 40
         5           5
           𝑥 = 8

__       __

Short Form

2𝑥 =
4

2
⎯⎯

  𝑥 = 2

𝑥

3
⎯⎯= 6 × 3

𝑥 = 18

5

4
⎯⎯𝑥 = 10 ×

4

5
⎯⎯

   𝑥 = 8
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